Key Knowledge Nat 5 Quiz
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The four trig formulas are listed below connect each one to the correct diagréiﬁ;is
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Draw a cast diagram with all features:
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Gradient of line formula:

Quadratics

Main features
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Trig Ratios
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What are the three measures of central tendency? Define each one
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What are the three measures of spread? Define each one
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Angle Problems What to Look For
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Factorising Priority Example Solution
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Complete the square form

Form Turning Point Sketch
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Form Turning Point Sketch
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Rules of indices

Rules Example
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